16 Lecture- MTH101
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What isthe derivative of f(x) = x"3 + 4x"2 - 5x - 2?
a) f'(x) =3x"2+8x-5

b) f'(x) = 3x"2+8x + 5

c) f'(X) =3x"3+ 8x"2-5x -2

d) f'(x) =3x"2+4x-5

Solution: The derivative of f(x) isf'(x) = 3x"2 + 8x - 5. Therefore, the correct answer is an option (a).

What isthe derivative of f(x) = sin(x)cos(x)?
a) f'(x) = cos(x)sin(x)

b) '(x) = cos"2(x) - SIN"2(x)

c) f'(x) = -sin(x)cos(x)

d) f'(x) = 2cos(x)sin(x)

Solution: Using the product rule, we get f'(x) = cos(x)cos(x) - sin(x)sin(x) = cos*2(x) - sin*2(x). Therefore,
the correct answer is option (b).

What isthe derivative of f(x) = 3x*4 - 2x*3 + 5x"2 - 4x + 17?
a) f'(x) = 12x"3 - 6x"2 + 10x - 4

b) f'(x) = 12x"3 - 6x"2 + 5x - 4

c) f'(X) =3x"3-2x"2+5x -4

d) f'(x) = 3x"3-2x"2+ 10x - 4

Solution: The derivative of f(x) isf'(x) = 12x*3 - 6x*2 + 10x - 4. Therefore, the correct answer is option (a).

What isthe derivative of f(x) = e*x cos(x)?
a) f'(x) = &x sin(x)

b) f'(x) = e*x(cos(x) + sin(x))



c) f'(x) = &x(cos(x) - sin(x))
d) f'(x) = &"x(cos(x) - cos(x))

Solution: Using the product rule, we get f'(x) = e*x cos(x) - &'x sin(x) = &*x(cos(x) - sin(x)). Therefore, the
correct answer is option (c).

What isthe derivative of f(x) = In(5x)?
a) f'(x) = /(5x)

b) f'(x) = 5In(x)

¢) f'(x) = 5/(In(x))

d) f'(x) = Ux

Solution: Using the chain rule, we get f'(x) = 1/(5x). Therefore, the correct answer is option (a).

What isthe derivative of f(x) = x*2 In(x)?
a) f'(x) = 2x In(x) + x

b) f'(x) = x In(x)

0) f(x) = 2x In(x) + 2x

d) f'(x) = 2x In(x) + x"2

Solution: Using (a)



